Контрольна робота
(Усні обчислення)
1 варіант
470 – 1 =                                          450 – 130 =
345 – 40 =                                        800 + 70 + 3 =
48 : 12 =                                           100 · 5 : 10 =
3 м : 6 =                                            280 · 1 : 40 = 
3 год = … хв





2 варіант
560 – 1 =                                          320 – 210 = 
962 – 60 =                                        400 + 60 + 7 =
51 : 17 =                                           100 · 7 : 10 =
4 м : 5 =                                            320 · 1 : 40 = 
[bookmark: _GoBack]4 хв = … с
